Directions (1-5): fF=Ifaf@d ar-are # e FuAAT F Az B F71 9faera Razor
g a1 @ 3R anferarT af 2017 # werarn: 3redr 3R TAYOr WAt & e i e 3.
frrfaf@a ame Ft earegd afRe s A e e weat & 3w A9,

2017 & &< 6 a1 Aarsd H Fo wE&4T = 12 Afaga.

Companies Ratio of Good and

Defective phones

Good : Defective
Honor 9:2
Moto 6:1
Apple 9:1
Redmi 13:3
Samsung 5:3
Lava 3:1

QL. Moto 3R Apple garr fafdta fFw a1 Fer Ffeqot Aarger wier Fr wem, wmar garr

AT 3= AT B Y TE&AT F FAMHT fhde gfaera &2
(a) 76%
(b) 63%
(c) 67%
(d) 77%
(e) 65%

Q2. af& Samsung & 80% FRYUT Wit gafeifia fre arv 3ikt 3o% s dvmaT WA &
aREdTaF Hed & 76% Hed W 391 3R afe qafetfia daaer v w1 fawa 77 9500 Taw

9f BT A1 A el A2 AT JAAT & BT F1 T (367 77 A M (@A fa=a )

(a) 24,200
(b) 21,200
(c) 20,472
(d) 20,200



(e) 22,000

Q3. Redmi, honor 3R Apple gaRT t&-aTy AT 3=a Aasa B # itaa d&ar
et &2

(a) 2.12 AT

(b) 21.2 ATz

(c) 0.12 fAfergsT

(d) 4.12 ATz

(e) 1.212 fAfergeT

Q4. Redmi garT faffd 3red Aarse wIal Y Fof §&41, Honor garT fafdT 3r=d Aarsa
YT Y Fof FEAT ¥ ot wferera sifts 82

(@) 5 7

) 7

500
200,

© )
200 04

(d) °®
(e) 100%

Q5. Moto, Samsung 3R Apple §aRT Ts-a1y fAfF 318 Biet i F&1T T4 Honor,
Redmi 3iX Lava gaRT ts-814 AT 38 Aasa B9 H &1 & 7T &7 3] =
g2

(a) 1.2 TAfeT=T

(b) 2.1 TAfeT=T

(c) 2.4 AToTeT

(d) 3.1 ATz

(e) 1.1 ATez=T

Q6. BF JTY Tk F HY 12 e F 1 ¢ vt 8. 8 ARG 36 1 &1 18 o A qu
Hehdll § G81 18 T2 IW F T 10 oo F U T FHA 2. 4 29, 12 Afgal 31 20 722 2
et & forw ver-wryr 19 i B A AW Fr Y Faer qont ganr 1 e # qur frar S @
A F fraa geut Y AraegTar gref?

(a) 36



(b) 24
(c) TrenRa s1ET foram I FehT
(d) 35

(€) 378 &/ g TET

Q7. v fAfae =iy 59 ufa arftes i sarer av @ Ader R arar § 3il gudt ey
St wgelt F QX 31Tt § 3@ 5.5% wfer afie it g & Frder fram Sman 3. @ et @

U [T 7o FHAT 14T FeT ST 1000 9T Hiey a¥ F 3R A1 I ¥ foyehrent o1 Tem .
fordrer & 78 qudt aerafAy fraeht 32

(a) 6250 ¥qT

(b) 10500 T

(c) 12500 F9T

(d) 15000 9T

(e) 14500 T

Q8. RE T¥Y TF Wiotae $ 12 AT 7 qu X #avel 8. 18 AR FANT Wistae # 16 =t
# G F Fehell § 3 24 Te0 58 18 ReAT F @ T 7 8. 8 AR 3K 16 T2 9 R+
¥ fore 1 73 ¢ 3 F1 B3 3 €. 10 7w A 9w i fraw = F g e

(a) 10 %2

(b) 10

()6
(d) 11 %
(e)8

Q9. e LIME & aY aof arefead &9 @ g 1 8. auif & L 3 M giat S ariderar w1
$ifaw?

(@) 1/2

(b) 1/4

(c) 1/3

(d) 1/6

(e) S8 & g =gl



Q10. 37 34T 0, 1, 2, 3, 4, 5 ¥ WY 4 3T Y =i AT qa18 o1 FHe &2 (1 off
3 F SEIT o ST0)

(a) 1080

(b) 120

(c) 300

(d) 360

(e) 370

Directions (11-15): fas=rfaf@ea wear sj@ar # sraa g a1 :fare-

Q11.3, 10.5, 25.5, 48,78, 116.5
(@)3

(b) 116.5

(c) 10.5

(d) 48

(e) 78

Q12.2,4.5,10, 22,49, 104
(a) 4.5

(b) 104

(c) 49

(d) 22

(e) 10

Q13.4,12,76,292,800, 1804
(a) 12

(b) 800

(c) 292

(d) 76

(e) 1804

Q14.8,11,5,14,2, 17— 4
(a) -4

(b)17

(c) 14

(d)2

(e)5

Q15. 243,81, 27,8,3,1
(a) 81

(b1

(c)8

(d) 27

(e)3



Solutions

S1. Ans.(c)
Total no. of Defective mobile phones

manufactured by Moto and Apple
= (3 X=X 12 + = X == x 12 million
77 100 10 7 100
= (0.24 +0.12)
= 0.36 million
No. of good mobile phones manufactured
by Lava

4 100

= 0.54 million
L
~ Required percentage = ” x 100

SO]. & E?EH}
S2. Ans.(c)
Original price of good Samsung phone
=9500 X —
= 12,500
Total selling price (in million)
5. 16 80
-X—x12 %X 12500 + —
=8 lg“ 16 199 ) million
®—®—x 12 ¥ 9500
8 100
= 20472 million
Sol.
S3. Ans.(a)
Required average
=t (B 32,522,910
_3:jlc(1‘5.:’{1.1311:-'_11)'< 1|:-1:u+m >'C:wl:r)}( 12
= 2.12 million
Sol.
S4. Ans.(d)
Required percentage
13x2—9x2
=——— x 100
Qw2
400
=5 %
Sol.

S5. Ans.(b)



Required difference

9 22 13 32
= (— X =+ =X —
11 100 16 100

5

100
& 14 Q 10 5 14

—(?xm+ﬁxm+;xm)“2

= (D.lS + 0.26 4+ 0.045-0.12- 0.09- D.l] = 12

= (0.485-0.31) X 12
= 2.1 million

+2x ]xiz

Sol.

S6. Ans.(a)

2 days work by given no. of persons
_ 42 122 20x2

T px12  8x18  18%10

- 11
Remaining work = 1—5 =3

1
~ Required number of men = 3 X72

Sol. =36

S7. Ans.(c)

Let amounts are P and 2P
Pxlxh 2Px1%5.5
= 1000

100 100
= P=6250
s Secondsum =2 X 6250
= 12,500

Sol

S8. Ans.(c)
9 days work of 8 women and 16 children

_( Bx9 + 15:{9:]
18x1e Z4xie
7

T 1z
.. 5
. Remaining work = 5

. No. of days taken by_lﬂ men to complete

the remaining work

5 12x12
= x =g
Sol. 12 10

S9. Ans.(d)
1 1
Required probability =— = -
4,52 B
Sol.



S10. Ans.(c)
Required ways=5xX5xX 4 x 3

=300
Sol.

S11. Ans.(b)
Pattern is,
+7.5, +#15, +22.5, +30, +37.5, +45

Sol - Wrong term = 116.5 #|115.5
ol.

S12. Ans.(c)

Pattern is,
2=x2+05=45
45=2+1=10
10=2+2=22
22=2+4=[48]=49
48=2+8=104
Therefore,

wrong term=49

Sol

S13. Ans.(b)
i+ 12 76 292 804 1804

| Il Il Il ]
+2° +4 467 +8* +10*
Sol. Wrong term = 800

S14. Ans.(a)
Pattern is,
+3, -6, +9, -12, +15, -18

Sol. ~Wrong term =- 4

S15. Ans.(c)

Pattern is,

23,43, 53, +3, 53, ...
Sl Wrong term =8



